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2019(0dd)

Time : 3Hrs. Sem - III/ EC
EM. -1

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

OR (312141)

Describe the working of a cathode-ray-Oscilloscope
with neat diagram. Give details of different parts of
aC.R.O.

DS ooy & HrRIYvImell &1
I ¥a°8 ARY & 91T B | AIR3N. D
fafi=1 st &1 faega fafavor 9

How many types of frequency meters are used for
the measurement of frequency ? Explain the

working of any one.
6

IgRT w9 =7q fHad yaR & gy wfar
T 9AIT BT & | fodl & yaR & fobar 3
AT PN |

OR (312141)

Explain the constructional details and working of
an electrodynamometer.

TP sddelisIAmEHey &) &l yomell vd
SO® Aa-dIcHd faavon &) aar o |
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(ii)

(iii)

(1i1)

(iv)

3 1621305

Hofl ypR & AW A I "I

fpar =T =nfay |

(@) =vft ufeRier @ w9 &1 gRafda &<

@) At & J@¥c & AR IR SIS Y
vic yRRIg @& A9 & 98a &Y

(&) #ivft vd vic < ufoRig &1 9qd

E
(%) 9 dIeeS Bl gEADR

Horizontally mounted moving iron instruments
use.

(a) Eddy current damping

(b) Air friction damping

(¢) Fluid friction damping
(d) Electromagnetic damping

afos v 4 @ qfAT R IA A
9gd sIdl @ |

(@) HAaR grT SfHyT

@) arg advr Sfigw

(d) axe geur Sfagr

(]) faega g Sfiaw

Which meter has the highest accuracy in the
prescribed limit of frequency change.

(a) PMMC

(b) Electrodynamometer

(c) Moving Iron

(d) Rectifier

P.T.O
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GROUP -C

Answer all Five Questions.

afl gia yo & S<x < |

7.

6x5=30

Describe the working of a flux meter with neat

diagram.
6

& ANW $ I Felad Al & b1 gorred]
BT qui o |

OR (3121an)

Write short notes on any two of the following.

(1) Moving coil instrument

(i1) Megger

(ii1) 3-phase power measurement by 2 Wattmeter
method

(iv) Frequency meter

1 4 9 fedl 31w ditra fewfrr fod |
() qfdT Farad 4

(i) AR

(iii) &1 dre#iex wfdq Amd+

(iv) g1 ardy

NT3027

(vi)

(vii)

(vii)

(viii)

5 1621305

TP OO YHR & SHoliadl #, wifas

gyor &1 = gRT gErfora fear

ST 2 |

(31) ofST d88 $I TR X IR A
JyATAd U Frd 9o rgel yaE
B

(@) <7 uRuer grRI

(@) aadl ¥ fog o

(2) SWidad & 4 ®Ig L]

The controlling torque in single phase power
factor meter is provided by

(a) Gravity

(b) Spring

(c) Stiffeness of suspension

(d) None of the above

Udhel Poll fdd ord A1d § Fa®
9o gyt 9 g1 yaE foear <iar 2
(31) Toca 9|

(@) Ry

(d) a0 9 B |9

(%) SWRIdd & ®is Tal

Marwell's inductance-capacitance bridge is
used for measurement of inductance of.

(a) Medium Q coils

(b) High Q coils

(c) Low Q coils

(d) Low and Medium Q coils

P.T.O
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4.

Explain the sources of errors in single phase

induction type energy motor.
4

Udhel Bl U0 YHR & HoiArdl d arggfgar
@ Edl o) AT W |

OR(3721dT)
What are the different difficulties encountered in

the measurement of high resistance? How there
difficulties are over come ?

Soa gfaRig A9 A g9 9t fafr=1 gRed
1 2| 319 gR&Al B 8 g fHar wmar 2

Describe an overview of applications of a C.R.O.
WA, & JFYANT &1 i N |
OR (3121an)

Explain the working of a potentiometer.

grefraafier &1 fpar gomell &1 aofqa &3 |
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x)

(xi)

(xi)

(xii)
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Red ora A dfaw g fFefo aA
CIGEEGE AR

(31) I IR 9% 9 <1¥ Raged 2|
(d) w9 9 <¢ @ 9% Ragad 2|
(@) ®H ) I 9 S Ragad 21
() B R SR 9 i Ragad 2 |

The smallest change in a measured variable
to which an instrument will respond.

(a) Accuracy

(b) Precision

(¢) Resolution

(d) Sensitivity

Ud 39 3 gfafear 8g 9l S+ ared!
R A =gaw uRada wedmar 2
CIREE

@) s

(\) Refreger

(=) af~adifadh

Which of the following decides the time of
response of an indicating instrument.

(a) Deflecting system

(b) Damping system

(c) Controlling system

(d) Pivot and jewel bearing

P.T.O



O'Ld

| 2 IbUs Ik®) R MDD 1d 10} RR
¢ kR Rhahdh R B IPRIZR (@ 2)2

‘syunys Jo djoy oy} ym popud)xd
wawnnsul HNAJ B JO d8Uel JUdLIND oY) SI MOH

(lprRR)IO

| 3 bbko & ladblphr DIl & ADYrlibof

RbLRAE —{§ b [bh @ |@IPkk) PYalke)
14
(SIue)Su0o [euonerado oy} Jo SULId) Ul I9JOWOUBA[ES

[EAUOSIY ,p & JO uonow jo uonenbs ayp ssaxdxyg

| 2 10d21>8 DPbRhe | 2
2hd A-le kr lER 112625 b LQlldy

“so[dwrexa 9[qens QAL “SJUSWINISUL
Sunei3ojul pue UIPIOIAT UIIMIIQ AJBNUIIYPI(

(TN (0)

I 2 Blab 1® 2k PURIRGY le-ftlp]
wkablie B2 1ke| Drs & |kk @bk halie

SO0ETTI1 €1 LT0ELN

104 (P)

asdiig (9)

da1) (9)

dul Jy3reng (v)

ST 06 £q Y1ys oseyd pue Kousnbaxy [enbd
Jo a3®,yj0A Tenbo yum uroped snolessrT oyl (ax)

2 (»)
bRdeh (R)
ke (b)
Bpnbp (k)
| 2 Iblin
Ik®] k Lhik RJBUS klRK 1b o Rha] (1x)

KeH (p)
uosIopuy (9)
uatpm (9)

[[PMXeIN (8)
‘Aouanbaiy ainsedws 03 pasn st A3pLIq YOIYA,  (11x)

ek} Bpo ph kb (2)
kD @Rl (B)
kD Irhyg (b)
ED Inhizb] (le)
| ba DYkl (& kbb
IRGIDIA @ kR ®bh ®h bld B b kk] (1Y

LTOEIN 8 SOEIT91



1621305 12 NT3027

(xx) A dynamometer type power factor meter has.
(a) One current circuit and two pressure circuit
(b) One current circuit and one pressure circuit
(c) Two current circuit and one pressure circuit
(d) Two current circuit and two pressure circuit

xx)  STEAFIHICR YdR & wfdd ord Ardl
H grar @ |
(31) TP orRT AR T UIR yRyer
(@) TP aRT 3R TH IR yRues
(A) < g7 3R TH UIR yRueyr
(%) <1 arT 3R < 4IR uRuer

GROUPB

Answer all Five Questions.

Il uig 9o & SR < |

4x5=20

2. Describe the various operating forces needed for

proper operation of an analog indicating instrument.
4

NT3027 9 1621305

(xiv) 9 A 9 AGfT & < dices foadr
Farax 90’ 2 &1 ferarsy ded @ 2
(31) <reft Y@
@) ga
(|) defqa
@ fag

(xv)  Loss of charge method for measurement of
high resistance is associated with the
difficulties and errors owing to
(a) Leakage and absorption effects
(b) Duration of application of voltage
(c) Temperature effect on insulation resistance
(d) All of the above

xv) STa YRR" 999 @ fog e s
faftr, gR®al aen srgrfEal 9 w1 @
SR AT 2 |
(31) &< vd Aaenyer yHa1g
(@) dIees @ YYad B DI dIdd
(\) fagaxieh yfoRier wR a9 yar9
(%) SuIqa g+

(xvi)  The power measurement in a balanced 3-phase
circuit can be done by.
(a) One wattmeter method
(b) Two wattmeter method
(¢) Three wattmeter method
(d) Any of the above

P.T.O
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